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Ecoplhemn

SAINT-GOBAIN Akutex:

Surface Technology

by Ecophon®

Master™ Matrix

600x1200, 600x2400, 1200x1200, 2400x1200

— 5 M344

A=255

A SOUND EFFECT ON PEOPLE
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1. Master Matrix 600x1200 / 600x2400 / 6. Pin (included in Connect Tube @:
1200x1200 / 2400x1200 hanger)
2. Connect T24 Main runner S | 7. Connect Installation screw MVL ~— ~ug
3. Connect T24 Cross tee, 8. Connect Fixing plate C3 QA‘
=900 @

4. Connect T24 Cross tee,
L=300

~

5. Connect Tube hanger
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www.ecophon.com



Installation direction
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Connect Wall bracket

Connect Angle bracket

Connect T24 Cross tee, L=1200

Connect Installation screw BR

Connect Tube hanger




A=170
B=120
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x=155-720
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600x1200/600x2400/1200x1200 = ©O

2400x1200 = 19
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600x1200




600x2400
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1200x1200




2400x1200
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600x1200 i

<0.25 kg

600x2400

<0.25 kg




1200x1200
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600x1200 | 600x2400 | 1200x1200 | 2400x1200
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